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GUE & 7 I97 G 1 & 12 7% Tglaaedia (MCQ) R & Uh-Udh 3 & J97 & |

GUE G 4 97 G&7 13 @ 18 T G-I (SA) JHR & F1-31 3%l & F97 & |
J9F Y97 HT I 50 Jed] @ 37fe 787 5147 =130 |

TS T H J97 G&IT 19 G 23 T 9-3709 (LA) IHR & TR-° 3H] & J97 & |
Jcdeb Jo7 &7 3T 100 ec] G 37181 787 5147 F150 |

GUE T 4 J97 G&IT 24 T 26 TF STaRY, HigT adl THIT7-STIRT T97 & |

@UE T § Y97 g&g7 27 § 30 T 4-3709 (LA) JHK & Sg-BF 3hl & 97 8 /
JiF J97 HT I 170 55! & 37ereh 787 5147 =150 |

Fo7-T7 4 FIE GHY faheq T 8 | TET FS T 8 Ak fqheq FT FIa€H 159
T B | 37 I § & T Uk 81 FIT HT I [o7ET W |
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o7 G&I1 1 & 12 7% Tglasedia (MCQ) TR & Uh-Uh 3% & J97 5 | 12x1=12
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o (el e

fTRad § § hIF9-91 Toh deTehul Sl T&IT SR g ?
(a) G USCHT hT TS

(b) 8 Senfirhr =1 femE

(c) Toma sk <1 TTH

(d) WRA IR =H H FawAT Hl IeqH
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E - Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12

59/1/2

Which one of the following is the main cause of Globalisation ?
(a)  The formation of United Nations
(b)  The development of new technology

(¢) The establishment of the World Bank

(d)  The rise of economy in India and China
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()  wteRer <l faeamd Sfsges aoifa <1 37 @ |

(i) ARl W T G 1992 ¥ Te-Si-sfa § i gt o |

(i) EIH USCHT 3 TATSRUT HTIhA T FaTeH TIh TC HHATERR TR

=l HiY fean & |
(iv) 9t TFHEH W STRSH Gh TUS¢ GRI Tehall T o |
gl faesheq gHT |
(@) (), (ii), (iv) (b) (D), (i), (iv)
() (1), (1), (iii) (d) (@G, (1), (iv)

ffeTiad ® | H-|1 Teh Afvaeh gead o o @au 787 & ?
(a) A AT (dfeask Aalg) (b)) SN SAARATG
(c)  wEmIRAl (d) el hiwd

frefafiad & & Si9-dt T SISy oNl sl Ush T HH Hdl 8 2
(a) IH TS AFATERR A=

(b) W TS Yuam uneg,

() e

(d) T FEEREA

g faeheq IRt a1e qU SHIfT ¢

e f5m | .

(a) TSI AR o (b)  ETR(dh JTGIeH o
(¢c) YIS 3Teia o (d) YIEiT eI o

gl foehed TRt aTe Wﬁﬁm:

frETsa Met=d

(a) aﬁﬁaﬁwﬁwﬁaqﬁ% e o

(b) & % TTIAE! G o GEATIH o

(c)  Hfvadl IO <0 < Teh a1 &

(d) @ifoea @9 § gawi 1 oy e aret T a1 o
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Which of the following statements about environment are correct ?

(1) Environmental concerns are part of the global politics.

(i1)) A conference on environment was held in Rio-de-Janeiro in 1992.

(iii) The UN has assigned the environmental programmes to UN
Human Rights Commission.

(iv) The Earth Summit was organised by the United Nations.
Choose the correct option.

(@) (@), (i), (iv) o) (@), Gi), (iv)

(0 (), G, (ii1) (d @1, (111), (iv)

Which one of the following is not a threat to global security ?

(a)  Global warming (b)  International terrorism

(c) Epidemics (d)  Rising prices

Which one of the following organisations works to prevent international
conflicts ?

(a)  United Nations Human Rights Commission
(b)  United Nations Security Council
(¢c) ASEAN

(d) Amnesty International

Choose the correct option to complete the sentence :

Arab Spring was a

(a) Political movement (b) Cultural movement

(¢) Social movement (d) Environmental movement

Choose the correct option to complete the sentence :
Mikhail Gorbachev was
(a)  General Secretary of the Communist Party of USSR

(b)  the founder of the Communist Party of Russia
(c) a leader of Western European countries

(d) aleader against reforms in the USSR
Page 5 of 23 P.T.O.
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FRUT (R) §RT 37fbd 1637 71 8 | 57 F971 & 717 & 9le0 3k 717 70 77 faweq)
(@), (b), (c) 3R (d) T @ 3T & &7 4 gl [dHcq T |
7. SYHYT(A): W 1977 H, A1 Ul I THR A ARG S, WG o Aqcd H
Tsh e AT i s foRa |
FRO(R): AN @l 30 e TR g1 =Nfyd SAITdehIal o HROT <hl

Sir= o fote fgeh foarm T o |

(a)  ITYHI (A) 3 SR (R) T Tal & 3 SR (R), AR (A) hHI
g ST LT 2 |

(b)  SATHA (A) 3T SR (R) THI Tl &, T RV (R), AT (A)
e SR gt il g |

(c) AR (A) HaEl 7, =g SR (R) TAd 7 |
d) 37w (A) T4 8, T HROT (R) & 7 |

8. Tfoiflga # @ form wam =t 3 gdyem vyra o sfds gami <t ywsta i 2
(@)  sfe e
(b) TS e
(¢) e f&g
(d) 3% AN TATA

9. fr=fcifiga =1 FraspAHER safe i :
(i)  OTfehea™ o SHYHR T Hamel FAUST 9 |
(i) G IFogectl JIHL-HTHI Hl TH-ATTH ST |
(iii)  YolTel AN W AMMard 3N Tefia el 3 g&drer fopu o |
(iv) STP-eheefR U ot Rarmed off |

Tal forehed FHT |
(a) (D, (1), (iii), (iv) (b)  (iv), (), (ii), (iii)
() (v), (1), (1), (iii) (d @G, (@), Gv), (ii1)
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For Question number 7, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (a), (b), (c) and (d) given below.

7. Assertion (A) : In May 1977, the Janata Party government appointed a
Commission of Inquiry headed by Justice J.C. Shah.

Reason (R): The Commission was appointed to inquire into the
reasons for declaring Emergency, by the Indira Gandhi

Government.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

8. Who among the following was the first Prime Minster to start economic
reforms in India ?
(a) Indira Gandhi
(b)  Rajiv Gandhi
(c) Manmohan Singh
(d) Inder Kumar Gujral

9. Arrange the following in the chronological order :
(1) Pakistan sent tribal infiltrators to Kashmir.
(ii))  Sheikh Abdullah became Prime Minister of Jammu and Kashmir.
(iii) The Punjab Accord was signed by Longowal and Rajiv Gandhi.

(iv) Jammu and Kashmir was a Princely State.

Choose the correct option.
(@) (), (i), (iid), (iv) (b)  @Gv), (1), (id), (iii)
(e (@), (1), (1), (iii) (d) G, (@), Gv), (iii)
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1974 T ST I gSdTel o1 &M fohee fopam o 2
(a)  STIYHT TR (b) SIS HAEH
(¢) TH FAIE Al (d) HRRS <HTs
T U L o [T T@1 foehed gHT
TR TLHR A T=as g JISHIT ohl &1 fifd & w9 9 AR |
(a) TS feepra b) fufsra srefemaeen
(c) HHNEIG (d) 3T

o o o ~

FfTREd forehedl § & WIRd o YA o TS Il I9g T
(a) 3@, AL, BETe

(b)  wfTg, Fqu, ArTeivg

(c) AEUS, ANMATE, ITEUS

(d) @i, TEree, i

Qs @
feregl gt 3eTEXvl ol TR ¥ TIH s 6l Ik <l gT | 2x1=2
‘St el 6t fohegil a1 Hewaqul ToRINdTsti sl ISR i | 2x1=2
LT hl AR RN shi ST HIT | 2
TR o WY fohegl a) gammf== & 9m fafge, e forddt Teeem TR &
Y9 fr 21 | 4><é=
Y H gell fich-Selt ¥R (Teayd i @hr) fhd av § s R =i
R 1+1=2
HEA I <l fohedl @ Fawiiatt st IR iy | 2x1=2
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Who gave a call for a nationwide Railway Strike in 1974 ?
(a) Jayaprakash Narayan (b)  George Fernandes
(c) Ram Manohar Lohia (d)  Morarji Desai

Choose the correct option to complete the sentence :

Five Year Plans were adopted by the Government of India as a policy of

(a) planned development (b)  mixed economy

(¢) socialism (d) industrialisation

From the following options, choose the set of States that belong to
North-East India only.

(a)  Assam, Manipur, Chhattisgarh

(b)  Manipur, Tripura, Nagaland

(c) Jharkhand, Nagaland, Uttarakhand
(d) Manipur, Maharashtra, Mizoram

SECTION B

Show with the help of any two examples, the strength of the United

Nations. 2x1=2
Highlight any two important features of the ‘ASEAN way’. 2x1=2
Explain the non-traditional notion of security. 2

Identify and name any four Prime Ministers of India who have led a

. 1
coalition government. 4x 3 =2

In which year was the first coalition government formed in India and
why ? 1+1=2

Highlight any two recommendations of the Mandal Commission. 2x1=2
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Tt g o foru 3fen miehl g 33U U fohgl =R sheAl 1 ITTR hifaU |

A o BRI T AR & foheal @l IHTEl ol fageiur HifST |

“gf@% (UNICEF) 1 g0l &9 feiflae qen sae i3 31 e fafaw |

A 7R qiferea™ @ o= Tra-y Ui o i3 ¢ U TSy |
JTehldeh FHTEHT o TXEUT o hig &l UM (TRIT |

Qs g
frefeiaa STaauu i eagds dfeu it Fi= fou 7T g & 3w Gfu |

4x1=4

2x2=4

1+3=4

2x2=4

2x2=4

4x1=4

““H % WY g Yg A WRA  AdISl hl QAR &7 h eareid feufd % ufd
ged TohaT | STSTT-9TT T 3Tcdd Afaehidd 814 o 3AdTh, T8 &F 9 &

Tne TS T@SAT 3T TSiifaesh Tehal o foTw gt Seqa oL @1 on |7
() Tr=fafad 4 9 81 T3, @) & T 787 8 2

(a)  3TRUTEA Q¥ (b) 3UUEUS
(c) HeTEE @ fga
(i) FHfIREd § ¥ HHE-A1 TsF, IRA-H g & HRU Gd fyeh Jwrfad
B3 2
(a) 3&H (b)  ATIRITS
(c) TRV FG @  faforrm
(i) F=fIfegd & & -8 TSF, YRA-SH g & qid 1¢ Al § Tied
fepar T o 2
(a)  HTTRATE (b) @m
(c) Tafoerm (d) = Yo
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SECTION C

Highlight any four steps taken by Indira Gandhi to remove poverty. 4x1=4
Analyse any two effects of globalisation on the festivals of India. 2x2=4
Write the full form of ‘UNICEF’ and state any two functions of it. 1+3=4

Suggest any two measures to improve relations between India and
Pakistan. 2x2=4

Write any two measures to conserve the natural resources. 2%x2=4

SECTION D

Read the following passage carefully and answer the questions that
follow : 4x1=4

“The war with China alerted the Indian leadership to the volatile
situation in the North-East region. Apart from being isolated and
extremely under-developed, this region also presented India with the

challenge of national integration and political unity.”

(1) Which one of the following States is not a North-Eastern State ?
(a)  Arunachal Pradesh (b) Uttarakhand

(c) Meghalaya (d) Tripura

(i1))  Which one of the following States was affected the most due to
Sino-Indian conflict ?

(a) Assam (b) Nagaland
(c) Arunachal Pradesh (d) Sikkim

(iii) Which one of the following States was created in the North-East
just after the end of Indo-China War ?

(a) Nagaland (b) Assam
(c) Sikkim (d) Arunachal Pradesh
Page 11 of 23 P.T.O.
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(iv) H-AT TSHIfde g, YRA-SH Ig o < dIg 3aieh Taug aH &
R forafed g ?

(a) T9ad gl

(b) I 9

(c)  HHYFE urdl A st
(d S

25. WRA % [CU T TSHITdeh WI-AFRE (T8 13 W) | =R TSIi/h35-SMHd &=
H @A), ®, © 7 (D & g 3ifeha foham T 7 | = § T8 TSR o6 ATUR
W T TSAI/heg-IMa &1 <l gg=a hiforg 3R 9 IT-gfedest ¥ 3 aal
I, JANT <l T8 THHRT shl ShH-G&AT 997 AHra § fean o gefia 1), =
<& 7 arfereRt & w9 # fofaw dx1=4

TN <hl T8 JHe/ | "t | fea

. . TS hT AH
&1 HU-IET TR GE(Ud 318R

(1)

(i1)

(iii)

(iv)

1) 98 T¥ o8 dsd TN & Ae9e], . d. Hed &1 greey o |

(i) 98 U9 &l g FHTS qref 9 YA qgAt IR S1TS |
(iii) I8 hee-3Mad &F fS9e 39 2019 § Tomam T o7 |
(iv) 98 UF 981 ¥ gfag g Fwm TSHifdeh 91el 1 367 g |
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(iv)  Which political party got split just after the Indo-China War due to

internal differences ?

(a)  Swatantra Party

(b)  Congress Party

(c) Communist Party of India

(d) Jana Sangh

In the given political outline map of India (on page 15), four
States/Union Territories have been marked as @A), B), © and D.
Identify these States/Union Territories on the basis of the information
given below and write their correct names in your answer-book along
with the respective serial number of the information used and the

concerned alphabets given in the map as per the following format :

Serial number of the | Concerned alphabet Name of the
information used given in the map State

(1)

(i1)

(iii)

(iv)

(1) The State to which the Chairman of the Mandal Commission,
B.P. Mandal, belonged.

(ii) The State where Bahujan Samaj Party formed its first

government.
(iii) The Union Territory which was constituted in 2019.

(iv) The State from which the political party Dravida Munnetra
Kazhagam originated.
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g:
(25.1)
(25.2)
(25.3)

(25.4)

= fou U T 1 TemEE i IR ffaiRaa Tt o I i

1)

dx1=4
TS G UTET % FEATh a1 1 W fafay |
WA o T TR TE ot B ¥ 2
TS TN o 37e¥ed, «t.4i. dsd, YRd & fpd T § TeEfg o ?
2019 | TorH g & 1 T34 foram T o 2

4x1=4

a

1

'c‘ff?"

R A P o  + At = =

B e T L B

B

gRA ST 3T a9 SHiH-H TS I g1 &M 8 ?

o

(a) |

o

(b) |

o

(c) |

o

d 1

N c ~ (e o
A ZIRMTH ATH dHT gcfH

e .~ o N
it CIRTIH HTH dHA Ul

N C - o o
{3 ZIH 3% dHA g8

C - o ¢
dicT 27 A% dHA cdH

Page 16 of 23



Note :

26.

59/1/2

"™ collegebatch .con

vy mr

ik
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(25.1) Name the founder leader of the Bahujan Samaj Party.
(25.2) Who was the first Non-Congress Prime Minister of India ?

(25.3) B.P. Mandal, the chairman of Mandal Commission belonged to
which State of India ?

(25.4) Which Union Territory was constituted in 2019 ?

Study the cartoon given below and answer the questions that follow :  4x1=4

L.“_ - T BV T e A AT SRR S A VI - A A ¢ A T — -

(1) The tiger sitting on the right-hand side represents which
organisation ?

(a)  Liberation Tigers of Tamil Eelam
(b)  Liberal Tigers of Tamil Estate

(c) Liberation Tigers of Tamil East
(d)  Liberal Tigers of Tamil Eelam

Page 17 of 23 P.T.O.
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(i) 1983 g el H IV TN fHHfIRad § ¥ fohd X aTia o1 ?
(a) TR g TeHIfae Wit & s deuma
(b) HHR GRI & TSR o s ¥euTd
(c)  WThR GHI I &nll o off=l Weurd
(d) TR G T gl o o9 YewE
(i)  #ietept H = o 9N H FEfdiad § @ SH-H1 %0 &7 7 ?
(a) WA 36 THEN ¥ g T AR HI3 BEdard T&l fohar |
(b) YNA 4 TIH USCHT § THET §A i ol hal |
(¢) WNA 3 *ficiehl & @Y TH THSd W g&er fohy i awe =+
THIYH § WA g3 |
(d) 99 % GRHE, WRA A HicTeht o TY U ToHRIH g qIg T |

(iv)  hIgd oI e <l & ?
(a)  Hficist &l TR WER faUeht gHi 180 & e aged sHH § J%d
sl

(b) I TC THR & foeg o |
(c) TR 4 gHI FHSHI < T1Y FHH EgR foha |
(d) ER fqueh A1 el o o= Jqe ST 984 hicd o |

Fie:  [AElad J97 F9c GBS GhTdat & 170 397 G126 % T R
g: dx1=4
(26.1) sficent 4 oy % o= o |
(a) Haareﬁ
(b) I &
() o el
d) o foremeumet
59/1/2 Page 18 of 23



@ collegebatch con

vy mr

ik
(ii)  The conflict in Sri Lanka from 1983 onwards was based on which
of the following ?
(a)  Discrimination by the government between political parties

(b)  Discrimination by the government between two
communities

(c) Discrimination by the government between two regions

(d)  Discrimination by the government between two religions

(iii)  Which one of the following statements about Sri Lankan crisis is
true ?

(a) India did not interfere in the crisis and kept away from the
problem.

(b)  India asked the United Nations to resolve the problem.

(c) India signed an Accord with Sri Lanka and got involved in
the solution to the problem.

(d) India snapped its diplomatic relations with Sri Lanka
during the crisis.

(iv) What message does the cartoon convey ?

(a)  Sri Lankan government managed to balance the two rival
groups.

(b)  Both the groups were against the government.
(c) The government treated both the communities equally.

(d) It was very difficult to maintain balance between the two
rival groups.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(26.1) In Sri Lanka, there was a conflict between ___
(a) two communities
(b)  two regions
(c) two religions

(d)  two ideologies
59/1/2 Page 19 of 23 P.T.O.
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1989 H, Wd 3 et § 9t o, f=fafigs 4 9 forw & 9@ &
Jr=ard WSt ?

(a) WRAME I 98

(b) WA IMfr BT

(c) WM =i gd

(d) dffer 6 IR B4

SficTeRT <1 BT o Toeg o1 aTel afdal @ o TYg 1 AW faRay |
(a) YR aba

by foag (. ddsg.)

(c) dffcd B SHIhH

(d) THA IS B

eNl o STeg, Hietent |

(a)  oATfefeh gfg R foehm wmed femam

(b)  3refedaEen ¥ fiwEe gt i

(c) SHEEAT U gig &3l ohl

(d =R A fee oo

Qs

“Aifosa w9 % foued & fova Torifa o fog o= i afom

frepet |7 i 3eTETEn Shi FEEET | eF i gite HiT | 3x2=6
AT

g @TEl g 1 fohegl @i mgeaqul fosmyaneti =1 faveiwor ifsie | 3x2=6

T A THTERIE &R TiTed o 9 H U T4 hi drehd 1 HoAThH

forgl o qeal o IMYR W HifT | 3x2=6
AT

“fofir wHETSAl % Ec[E, 3R TR % |t S % S Sl 6

T T IFh! ATHIAT B & |7 Thedl diH IUIh ISEN dfegd 39
Y i ge HiT | 3x2=6
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28.

59/1/2

(26.2)

@ collegebatch con

vy mr

ok
In 1989, India sent troops to Sri Lanka, named as :
(a) Indian Peace Groups

(b)  Indian Peace Keeping Force

(c) Indian Peace Workers

(d) Indian Troops for Tamils

(26.3) Name the group of Tamils who fought against the army of

(26.4)

(a)

(b)
(a)

(b)

Sri Lanka.
(a) Indian Tamils
(b) LTTE

(c) Tamils for Democracy
(d) Tamil United Front

In spite of conflict, Sri Lanka has registered __
(a) risein its economy and development

(b)  fall in its economy

(c) rise in the population

(d) fall in its trade

SECTION E

“The disintegration of the Soviet Union had profound
consequences for world politics.” Support the statement with the

help of three examples. 3x2=6
OR
Analyse any three important features of the First Gulf War. 3x2=6

Evaluate the strength of European Union as the most effective
regional organisation on the basis of any three facts. 3x2=6

OR

“Despite various problems, the people in all the South Asian
countries share the aspiration and support for democracy.” Justify
the statement with any three suitable examples. 3x2=6
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30.

59/1/2

()

(@)

@ collegebatch con

TaAdl o AIG NG oh GHE S foheal i FHIGAT hl AR

HITT | 3x2=6
HAAAT

oot fmadt (Warel) 1 YRa 99 ° I i H TR deadyTg ged

i YR IATR T | Teohral T IS0 <l TEE@AT | 370 3T ol

gad Hifvu | 3x2=6

1969 H wUE 9 # g fawrsw % fheal d wwon @ fowerwo

HifT | 3x2=6
STl

1975 B N¥d AR 9 Hg foregl a9 a1ei o1 favawor hifsie 3x2=6
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30.

59/1/2

(a)

(b)

(a)

(b)

@ collegebatch con

vy mr

ok
Highlight any three challenges faced by India after independence. 3x2=6
OR

Highlight the role of Sardar Vallabhbhai Patel to bring the Princely
States into the Indian Union. Support your answer with the help of
any three examples. 3x2=6

Analyse any three reasons for the split in the Congress Party
in 1969. 3x2=6

OR

Analyse any three lessons learnt from the Emergency declared
in 1975. 3x2=6
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